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Design of RCC structural elements
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Answer any Three Full questions. Assume any missing data suitably. Use of IS 45

6 andsp 16 is
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PART A - Compulsory question
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of a slab 150mm thick spanning between ribs spaced at 3m
floor is 4KN/m?. Using M20 grade concrete and Fe
hear reinforcement and sketch the reinforcement

A tee beam slab floor of an office comprises
centers. The effective span of the beam is Sm. Live load on
415 HYSD bar. Design the intermediate beam, design the s

details.

PART B — Answer any two question
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Design A cantilever balcony slab projecting 1.2m from a beam adopts live load of 2.5 kN/m?. Use M 20m
grade concrete and Fe 500 steel. Design the bond length and sketch the reinforcement details.

Design a dog legged stair case for a residential building hall measuring 2.2 m x 4.7 m. The width of the
landing is 1m. The distance between floors to floor is 3.3 m. The rise and tread may be taken as 150mm and
270mm respectively. The weight of floor finish is 1 kN/m?. The materials used are M20 grade concrete and
Fed |5 grade steel. Sketch the details of steel. Here flight and the landing slabs spans in the same direction i.e,
Flight spans longitudinally. Sketch the reinforcement details.

A rectangular reinforced concrete beam, located inside a building in a coastal town, is simply supported on a
two 230 mm thick and 6m apart masonry wall. The beam has to carry, in addition to its own weight, a
distributed live load of 10kN/m and a dead load of SkN/m. Design the beam for maximum moment at mid

span. Assume Fed15 steel.
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